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log (L*)

L*

24100

LABJND lightness log (0,1* g5 9
CIELAB lightness log (L* 4p)

L*gs5,3,7508 Y,=18

10g(L* g5.50=1.70 m,=0.4

log (L

*IL* ) normalized LABJND lightness
e log (0,1 g55/ L*g53)
L normalized CIELAB lightness
log (L*ap / L*ap,0)
10

= l0g(3(v,/3/116) + (2/3) logy)

Y218 Y088 QY0045
log(dY)=0,82,m,=0,66

» Mus=
4, 0,86

! application
' range

ohpViE18 Y,=0,83 dY,/¥,=0,045

log (L*) LABJND lightness log (0,1* g5 9 log (L*/L* ) normalized LABJND lightness
CIELAB lightness log (L* 4p) log (0,1 *g53/ L*g534)
L* LABIND and CIELAB lightness L normalized CIELAB lightness
L*gs3= (Ya) In [ 1 +b (v/Yy)] log (L* 2/ L*ap.0)
a=0,3411 t=88,23 t/a=258,6 b=&,=6,14 LABJIND and CIELAB lightness
o) 10g LFan =116 wiY)2-16  ,=100, 1<Y <100) Ao Lesa=wan[1+b vy
O 85,3508 Y,=18 a=0,3411 t=88,23 t/a=258,6 b=¥,=6,14
10g(L* g5,3,)=1,70 M,=0,4; ' L* 5= 116 ¢/Y)*° - 16 7,=100, 1<Y <100)
1
L* g5 3.7508 Y,=18
1410 ' nesuiS08 NS
| T log[(L* gs)/(L* g5,)]=0, m,=0,4 | m—
application 1 application
: range § range
0 0,1 1 10 ,Y,=18100y L 0,1 10 1Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
ZE750-1N_1 ZE750-2N_1
logAY  CIE tristimulus value difference log(AY/IAY,) gIE tristimulus vaIKe difference
10AY, ndAY, Y normalized to AY,
av 10BYumonoss andAYcieins AYIAY,  for LABINDSS and CIELAB
L* = 116 (/Y)Y - 16 L* = 116 (/Y)Y - 16
tristimulus value difference according to CIELAB tristimulus value difference according to CIELAB
Ao leadv)=log(3 (,y116)) + (213) logt/¥y) o Toadv)=log(3 (y116)) + (213) log(/¥y)

= log(3(v,}/116) + (2/3) logy)
2 Mu=

log[(dY)(dY,)]=0, m,=0,66 ' emicaton
§ range

1

Ao ' L* g5,5,7508 Y,=18
: ——— log[(L* gg)/(L* g5,)]=0, m;=0,4 | m—

application 1 application

: range 1 range

0 0,1 1 10 ,Y,=18100y 4 0,1 10 1Y,=18100y

- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)

ZE751-1N_1 ZE751-2N_1
logAY  CIE tristimulus value difference logAYIAY,) EIE tristimulus val&e difference
10AY, ndAY, Y normalized toAY,
av 108Yumonoss andAYcieins AVIAY,  for LABINDSS and CIELAB
1410 1410

(=

218 XS89 0Y Y0 04
log(dY)=0,82,m,=0,66

! application
range

ohoYuZ18 0Y%,=0.83 dY,/¥,=0,045

log[(dY)(dY,)]=0, m,=0,66 pr——
¢ range

Y contrast according to CIELAB
log[(dY/Y) = log(3 (v, /3/116) - (1/3) logY)

m,-=0,85 f m,_=0,85 ,
) 0,1 10 1Y,=18100y 4 10 Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
ZE750-3N_1 ZE750-4N_1
log AY/Y) CIE Y contrast log [(AY/Y) I (AY,/Y,)] CIE Y contrast
10C;  aganpes @nd C, cieiag normalized to AY, /Y,
C=(aY1Y) Ci/Cry=(AYM)(BYIYy) LABINDSS & CIELAB

Y contrast according to CIELAB
log(@Y/M)/(dY,/Y,)] = log(YrY,) 3

m,.=0,85 ' m,-=0,85 _,
o 0.1 10 3Y,=18100y o 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
ZE751-3N_1 ZET51-4N 1
log AY/Y) CIE Y contrast log [(AY/Y) | (AY,/Y,)] CIE Y contrast
10C;  aganpes and C, cieiag normalized to AY, /Y,
C=(aYr) Ci/Cry=(AYM)I(BYIYy) LABINDSS & CIELAB
01 1410
R my-=-0,14, e ————
m,_=-0,14 application application
> range range

0,1
log(dY/Y)=-1,33,m
Y,=18, dY,=0,83 dY,/Y,=0,045 1

my=
--

-0,13

Ofele = = = = - - -
logl(@Y/YY(dY,/¥,)]=0,

My=

Y,=18, d¥,=0,83 dY,/Y,=0,045

10

Y sensitivity according to CIELAB

log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log(Y/Y,,)
= log[(1/3) (1160, ") + (1/3) log(Y)

L* 45,750, Y,=18, dY,=0,83 Y,/dY,=2

== My=

041 1410
m—— my-=-0,14 ——
m,_=-0,14 application application
- range range _
- Ofmle = o o= my+=
log(dY/Y)=-1,33,m,=-0 M= log[(dY/YY(dY,/Y,)]=0, m,= -0,13
Y,=18, dY,=0,83 dY,/Y,=0,045 ==, 0,13 Y,=18, dY,=0,83 dY,/Y,=0,045 :
. 0,1 1 10 3Y,=18100y 5 0.1 1 10 1Y,=18100y
- -1 0 1 2 _log(Y) -2 -1 0 1 2 log(Y)
ZE750-5N_1 ZE750-6N_1
log (Y/AY) CIE Y sensitivity log [(Y/AY) I (Y/AY,)] CIE Y sensitivity
0,1S, L agnpss @Nd S cieias normalized to Y /AY,,
S=(Y/AY) SIS =(YIAY)I(Y /AY,) LABINDSS & CIELAB

Y sensitivity according to CIELAB
10g[(Y/AY)I(Y /AY,)] = log(Y/Y,)
L* ap,i=50, Y,=18, dY,=0,83

1/3
10

L* 25,750, Yy=18, dY,=0,83 Y,JdY,=21 . _

. 0,1 1 10 3Y,=18100y 5 0,1 1 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
ZE751-5N_1 ZE751-6N_1
log (Y/AY) CIE Y sensitivity log [(Y/AY) / (Y/AY,)] CIE Y sensitivity
0,1S; Laginpss @Nd S cieLas normalized to Y /AY,,
S=(YIAY) S/Su=(YIAY)(Y/AY,) LABINDSS & CIELAB
1410 1410

L* 45,750, Y,=18, dY,=0,83 Y,dY,=21 . _

2 e

TUB-test chart ZE75; LABIND formulae and CIEDE2000input: w/rgb/cmyk —> w/rgb/cmyk

ok 1/00(Y/d¥)=1,33,m,=0,33 1 0,13 oks log[(Y/dY)(Y,/dY,)]=0, m,=0,33 0,13
' e T
4 == o=
m,_=0,14 : application : application
u , range m,_=0,14 . 1 range
. 0,1 1 10 1Y,=18100y N 0,1 1 10 1Y,=18100y
- -1 0 1, 2 log(Y) B -1 0 1 2 log(v)
ZE750-TN_L ZE750-8N_1
ZE750-7N

Lightness,Y-difference, contrast, and sensitivity
C M Y

' ok log[(Y/dYY(Y,/dY,)]=0, m,=0,33 013
1 e -----eeee----- '
m,_=0,14 : application : application
u , range mu_:0,14' 1 range
. 0,1 1 10 1Y,=18100y y 1 10 1Y,=18100y
- -1 0 1, 2 log(Y) B -1 0 1 2 log(v)
ZE751-TN_L ZE751-8N_1
ZE751-7N
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